|3 From a rectangle ABCD of area 768 sq

1 B 7‘:_ 12 A c¢m, a semi-circular part with diameter AB
2. and Area 72m sq cm is removed. The
YT =12 AR=2 (1 perimeter of the leftover portion, in cm, is

TP 768 sq cm dre fhdEr AT
ABCD # ¥ <O AB 3R &%

8 .37 727 sq cm AT TH g9 T ST
R Y T R & aRaAE@A, #) g
A 3% D C
2| a)140 + 247 488 + 121
oY )80 +16m  d)80+ 12w
B 32 " 3L+T2+AY + Mx |
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[Y4 A triangular park full of grass has

o sides 33 m,56 m and §5_m in

length. Three horses with 14 m

‘ ropes are tied at the corners of the

_\Y 8 park. Find the total area inside the

14D* park which the horses cannot
33 J graze?

Th U & BREmeR aer

(_\_ Q Y T3t Y a'a-m'é 33m,56m

= 1 _ Cir)) T

X%XB% i aitT aEr | SAEC A &

< oy FreY fhae aFwd A 913 U

M< 61¢ T8 W T &7




6 xI%0 |5 Three horses are tied outside at the
corners of a triangular barn with side
lengths 33 m, 56 m and 65 m. What
is the maximum area the horses can

grazeif the length of the

ropesis 14 m?

dier a3 frdt Peemer afaee
F A aid v § @
da’l Y @ 33m,56m

5 N 5 65m g =13 @foge ¥ aw
oo y 15U - FfOFaT Rraa ST W qFT &
—%s =1540 Ife et Y e 14 mE?
Z a) 3080 m?2 M 1540 m?
c) 1616 m? d) 1232 m?
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[6: A horse is tied to an outside corner

of a rectangular barn with
dimensions 14m X 7m. What is
the maximum area the horse can
graze outside, if the length of the
ropeis 17.5m?

4T "iET R 14mx7m &
AT & FAAHER  Gfagel &

Ft A Ter g wsr @lowe &
e} fFdd Fder sampr WX
TAHdT g, PR & A s
17.5m%‘?

a) 684.375 m?> 4@)813.125 m?
c) 824.625 m?  d) None of these
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|7. ABCD passes through the centres of
the three circles as shown in the
figure. AB =2 cmand CD = 1cm.
If the area of middle circle is the
average of the areas of the other two
circles is the average of the areas of
the other two circles, then what is
the length (in cm) of BC?

st & amefa & gum wm §,
ABCD @ g@ & Few @
el 8] AB = 2cm @41 CD =
1cm 3, 3G AT gat &1 &6
AV AT Al & B w1 IAud
¥, arec 1 aFaS (cm &) FAT &2
AVe-1 b) V6 + 1
c)V6—3 d) V6 + 3
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|8- Three coins of same size (radius 1
cm) are placed on a table such that
each of them touches the other
two. The area enclosed by the

fQasr v qEl ®1 FARr FAT
g ey RFdr & AT F1 adFwd
forae gem?

a)(g—\/g)cmz
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[9- 4 circles each of radius ‘@’ units

touch one other. The area enclosed
D— g between them is
‘2’ THTE ﬁ?;n are gﬂ gd T
—Un2_ 2 ey 1 T FS 8| A AR
= o ‘2—72 @ T gal & & @reh e F AEwa
ok 6 QW e 6 a?
7 Y *h a)3a a
4 q? a?




20. Six circles each of unit radius are
being circumscribed by another
larger circle. All the smaller circles
touch each other as shown in the
figure. What is the area of the
shaded region?

1 cm ﬁﬂTWGH‘?ﬂ'Eﬂ'WE?
gd & O g3 §| R DR Id
T F RAT & ITAR T
S ¢ SHEIfhd AT HT TP
CLIEN

a)43-m B 43 -2m
c)2V3 - 2m d)3V3 - 2m

e







2). Three circles of diameter 10 cm
each, are bound together/by a
rubber band, as shown )in the
figure. The length of the'\rubber
band, in cm, if it is stretched as
shown, is Y=5
10cm =g drat e E!'?IT Ca)
| TF T UF I d5 F @w
g fr Sar g WX ds A
m q;T N IR Ig FH &
|

a)30+20m 430+ 10m
)60+ 10w d) 60 + 20m
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22.There are six circular rings of iron,
kept close to each other. A string
binds them as tightly as possible. If
the radius of each circular iron ring
270 X is 1 cm. What is the minimum
possible length of string required to
bind them?

lQ*rD\n T TGAdH FATS FAT FAI?
a)12+mcem
b)6 4+ 2m cm
%2(6+1t)cm

d) None of the above
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23. An equilateral triangle

circumscribes all the three
circles each of radius 1 cm. What
is the perimeter of the
equilateral triangle?

Uch HHdG ﬁ'ﬂﬁ' AT 1 cm
frear arel gal & 9y gv §
wHaTg A F1 aRAT F
7

6(vV3+1) cm

b) V3(8 +v2) cm
c)15(vV3-1) cm

d) None of the above
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24.Three equal circles are placed inside an
equilateral triangle such that any circle

O T )()1/ is tangential to two sides of the
= equilateral triangle and to two other
A E V‘f (‘4+2f3) circles. What is the ratio of the area of

one circle to that of the triangle?

' deT ¥AT WHR F gal A TF

&L HAETE DS ¥ 36T @1 oaT §
R B ﬁ#%aﬂ%aﬁaﬂwﬁﬁa;
) 3 A W AR @ e gat ¥ v

MP—> i@ ¥ @ ga ﬁ?ﬁﬁﬂ:

T 37eTaTd FT gen?
(6+4\/—)
b)31t (6 +4v3)
c)2m: (6 +4V3)
d)m: (6 +2V3)
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C 24. An equilateral  triangle
circumscribes all the six
circles, each with radius 1

‘”A cm. What is the perimeter of

the equilateral triangle?

\/ UH HAdE BT &: 1 cm

A ;‘3@“ 6(2 +3) cm
e = "p)3(2+V3)mem

E Y+ 2 > ¢ 12(V3+4)cem
d) None of the above

/

D\TSfﬁ
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2¢. Three equal circles each of
radius 1 cm are circumscribed
by a larger circle. Find the
circumference of the
circumscribing circle?

dT 1 om BT a 9A 1=
gd TH 93 9d qarT By AT
§ a8 g@ 1 aRMY AT =

ax T (2 )—(2—\/—)1rcm
n &ﬂ > b)2+\/_
ﬂ’ﬁ(2+\/§)ncm

d) None of these
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23.Six circles each of unit radius are
being circumscribed by another
larger circle. All the smaller circles

\4__,.} touch each other as shown in the

J’% figure. What is the circumference of
the larger circle?

= U+J)3 1 cm BT arer 6 gdY & & &3

e 3 91 g3 ¥ AR OR IA
F Y & IqEr T

| 93 g &1 R#ATT F4T QeI?
(J\Cu\,n, 2 i a) (\/_3;4>1tcm
. Ml}> b) 43w cm
N /{2 <(4+—\/\§/—3)>ncm

d) Can’t be determined
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928. Three equal circles each of diameter d

_— d _ 4 (2+f32)
Radiup= 9”+E-d( > @

are drawn on a plane in such a way that
each circle touches the other two
circles. A big circle is drawn in such a
manner that it touches each of the
small circles internally. The area of the
big circle is

TF HAdd W dld SR g, A6

a) wd? b) md?(2 — V/3)?
2 2 2 2
o) nd (\/2§+1) And (\1/3+2)
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29. In the figure given below, D is
the diameter of circle.
What is the diameter of th.e

AR=3 e &1 7 SR % e
A% (AQtBP) gfq’;‘%ﬁw af’
= Ghomnlit o DWZ-1) b)D(VZ+1)

Bmalll O )DWZ+2) d)D(2-v2)
=J2p-p

| CDS 5 Feb 2017 | 18



3p. Four equal circles are drawn such that

their centers form a square. If the

D" O =4z area of empty space enclosed by
them is 42 cm?, then find the radius

of the biggest circle which can be

2 2
\11 —Z—Z v=4Z *{1 7 drawn in the empty space between
7 all the four c;r_:llres;T e
NG 7 T g v IR HATA qATIT ST
! YN Ifg 39F @ W AT @ FAT
=)Y=7 HT TP 42 cm? %‘t—r‘ra?-rﬁ

¥0FaH B 79 $ET &
Yad, = _Mf3 -y IRt gat & T @rel T g
2 ST HHaT B
a) 7V2 )ﬁ7(\/i
7(V2+1) d)14-7V2
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3). In the given figure, four identical
circles are circumscribed by a bigger

\ circle. A small circle is also drawn in
the area bounded by the four circles.
Q—U 2 What is the ratio of the areas of
biggest circle and the smallest circle

\ Z in the figure?

R J2+ - L)) @ mh sfa #, AR @ g
2 a%a?ra;aamﬂ'tm'%l
R 2 amaa’raama'twq:zrm#

_q Y Tt T BleT gd I AT Y| I
( Q- 2"\) r=\axaﬁm3ﬁtwm$

Jz—n) Lo aa’ra:ma»'rmw%”
a) (V2 +1) b)(VZ+1)°

@1 oO(VZ+1)’ y(\/i +1)*
| | 20
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